# **CHANGE ORDER**

Change Order No:	5
Date:	April 26, 2023
Agreement Date:	October 17, 2022

Owner:	City of Dyersville, Iowa	
	Dyersville East Road Utilities Extension 2022	EDA No. 05-79-06087
Project:	Sanitary Sewer and Force Main	Origin Design No. 20080
Contractor:	Tschiggfrie Excavating Co.	

The following changes are hereby made to the CONTRACT DOCUMENTS:

A) Bid Item Quantity Overruns				
6 Sanitary Sewer Force Main, Trenched, PVC, 6"	30.83	LF@	\$39.00	\$ 1,202.37
19 Driveway, Paved, Concrete, 6"	52.34	SY@	\$75.00	3,925.50
27 Inlet Protection Device, Surface	2	EA @	\$180.00	360.00
28 Inlet Protection Device, Maintenance	3	EA @	\$11.00	33.00
B) Additional Grading at 30512 Dyersville East Road (see atta	iched)			
Materials, Equipment & Labor				5,021.00
C) Fittings (see attached)	68	LBS @	\$11.50	<u>782.00</u>
TOTAL CHANGE ORDER NO. 5				\$11,323.87

Justification:

- A) Bid item quantity overruns from original plan quantity estimates are due to actual material quantities required to be installed for field conditions encountered during construction.
- B) Additional grading was necessary for the restoration of this property to preconstruction condition.
- C) Field conditions during construction dictated the use of ductile iron fitting connections to the force main system.

Change to CONTRACT PRICE:

Original CONTRACT PRICE	\$ 1,094,955.20
Current CONTRACT PRICE adjusted by previous CHANGE ORDER	\$ 1,128,743.25
The CONTRACT PRICE due to this CHANGE ORDER will be INCREASED by	\$ 11,323.87
The new CONTRACT PRICE including this CHANGE ORDER will be	\$ 1,140,067.12

Change to CONTRACT TIME:

The CONTRACT TIME will be unchanged. The date for substantial completion is April 15, 2023. The date for final completion is May 15, 2023.

Approvals Required:

To be effective this Order must be approved by the federal agency if it changes the scope or objective of the PROJECT.

City of Dyersville, Iowa Dyersville East Road Utilities Extension 2022 Sanitary Sewer and Force Main Change Order No. 5

#### Change Order Recommended for Acceptance:

ELDON M. SCHNEIDER 22517	I hereby certify that this engineering document was prepared by mo or under my direct personal supervision and that I am a duly licens Professional Engineer under the laws of the State of Iowa. For Origin Design Co.	
Iowa Awa	Eldon M. Schneider, PE Date License Number 22517	
	My license renewal date is December 31, 2023	
	Pages or sheets covered by this seal: Change Order No. 5	

### Accepted and/or Requested: **CONTRACTOR** Tschiggfrie Excavating Co. BY Signature NAME Ben Kramer Project Manager TITLE DATE City of Dyersville, Iowa Accepted and/or Requested: OWNER Attest: BY Signature BY NAME: Jeff Jacque Signature NAME Tricia Maiers Mayor TITLE: TITLE City Clerk DATE

Page 2

# **TSCHIGGFRIE INVOICE**

Dyersville East Road Extra Grading Project:

City of Dyersville Bill To: 340 1st Ave. E Address:

City, St, Zip: Dyersville IA. 52040 Attn: Marc Ruden Ph: 563-875-7724

Fx:

30512 Dyersville East Rd. Location:

Date Completed: Thu, Apr 27, 2023

### LABOR & EQUIPMENT

DESCRIPTION	SKU#	QTY	UNITS		UNIT PRICE		TOTAL
Pickup Truck	TK01	1.50	HRS	@	110.00	=	\$165.00
Pull Trailer - 2 Axle	TL01	1.50	HRS	0	30.00	Π	\$45.00
CAT 299 Skid Loader - Track	LD03	1.50	HRS	@	180.00	=	\$270.00
Operator	LA02	1.50	HRS	@	100.00	=	\$150.00
Laborer	LA03	4.00	HRS	@	90.00	=	\$360.00
CAT 966 Loader - Rubber Tire	LD23	2.00	HRS	0	190.00	=	\$380.00
Dump Truck, 3 Axle	TK06	5.50	HRS	0	125.00	=	\$687.50

\$2,057.50

MATERIALS				ر 		
DESCRIPTION	QTY	UNITS	i	UNIT PRICE		TOTAL
Topsoil	70.00	TON	0	\$40.00	=	\$2,800.00
Special Backfill	10.90	TON	0	\$15.00	=	\$163.50

 \$2,963.50

\$5,021.00

(ADD TAX AS REQUIRED)





425 Julien Dubuque Dr. Dubuque, IA 52003 P.O. Box 3280 Dubuque, IA 52004

Ph: (563) 557-7450

Fx: (563) 557-7585

То:	CITY OF DYERSVILLE	Contact:	City of Dyersville	
Address:	340 - 1st Ave E.	Phone:	(563) 875-7724	
	Dyersville, IA 52040	Fax:	(563) 875-8238	
Project Name:	Dyersville Sanitary Sewer & Forcemain Fittings	Bid Number:		
Project Location:	Dyersville, IA	Bid Date:	4/28/2023	

Line # Item #	Item Description	Estimated Quantity Un	it Unit Price	Total Price
	Fittings - By Weight	68.00 LB	\$11.50	\$782.00

Total Bid Price: \$782.00

#### Notes:

- The following items are included in this quote:
- The following items are NOT included in this quote:
- Not Included: Any Surveying & Layout
- Not Included: Any Testing or Sampling of Materials
- Not Included: Cold Weather Protection for Paving or Subgrade
- Not Included: Removal of Hazardous or Contaminated materials
- Not Included: Over-excavation of poor soils
- Not Included: Any Bonding
- Not Included: Any Retainage
- Not Included: Any required Permits
- Not Inlcuded: Any Allowances

#### • Special Notes for this quote:

- Addendums are acknowledged
- · All costs will be based on actual quantities installed
- Payment due 30 days from invoice
- This quote is applicable for 30 days after bid date
- Any applicable taxes will be an additional cost

ACCEPTED:	CONFIRMED:
The above prices, specifications and conditions are satisfactory and hereby accepted.	Tschiggfrie Exc. Co.
Buyer:	Kan Viena
Signature:	Authorized Signature:
Date of Acceptance:	Estimator: Ben Kramer
	(563) 542-0586 bkramer@tschiggfrie.net